<?xm version="1.0" encodi ng="UTF-8"?>
<Subm ssi on xmIns:xsi="http://www.w3.0rg/2001/XMLSchema-instance""
xsi:noNamespaceSchemalLocation=""layout.xsd">

<T619>
<trnntr_nbr>nml11111</trnntr_nbr>
<shbnt ref id>Vos données</sbm ref id>
<trnmtr_tcd>1</trnntr_tcd>
<summ cnt >0</ summ cnt >
<TRNMTR_NM>
<l 1_nnmpVos données</| 1 _nnp
<l 2_nmrVos données</| 2_nmp
</ TRNMTR_NM>
<TRNMTR_ADDR>
<addr _I 1_t xt >Vos données</addr |1 txt>
<addr _I 2_t xt >Vos données</addr _| 2_t xt>
<cty_nnpVos données</cty_nnp
<cntry_cd>111</cntry_cd>
<prov_cd>ON</ prov_cd>
<pstl _cd>Vos données</pstl_cd>
</ TRNMTR_ADDR>
<CNTC>
<cnt c_nnm>Vos données</cntc_nnp
<cntc_area_cd>000</cntc_area_cd>
<cnt c_phn_nbr >000- 0000</ cnt c_phn_nbr >
<cnt c_ext n_nbr>0</cnt c_ext n_nbr >
<cntc_enmmi | _area>Vos données</cntc_emmil _area>
</ CNTC>
<rpt _tcd>A</rpt_tcd>
<l ang_cd>E</| ang_cd>
</ T619>
<Ret ur n>
<T4>
<T4Sli p>
<EMPE_NW>
<snm>Vos données</snnp
<gvn_nnpVos données</gvn_nne
<init>a</init>
</ EMPE_NM>
<EMPE_ADDR>

<addr _| 1_t xt >Vos données</addr _| 1_t xt>
<addr | 2_txt>Vos données</addr |2 txt>
<cty_nnpVos données</cty_nnp
<cntry_cd>aae</cntry_cd>
<prov_cd>on</ prov_cd>
<pstl| _cd>Vos données</pstl _cd>
</ EMPE_ADDR>
<enpt _prov_cd>ON</ enpt _prov_cd>
<sin>111111111</si n>
<enpe_nbr >Vos données</enpe_nbr >
<bn>000000000t t 0000</ bn>
<cpp_qgpp_xnpt _cd>0</ cpp_qpp_xnpt _cd>
<ei _xnpt _cd>0</ei _xnmpt _cd>
<rpp_dpsp_rgst_nbr>0</rpp_dpsp_rgst_nbr>
<enpt _cd>00</enpt _cd>
<rpt_tcd>A</rpt_tcd>
<T4_AMI>
<enpt _i ncant >0. 00</ enpt _i ncant >
<cpp_cntrb_amt >0. 00</ cpp_cntrb_ant >



</ T4Sl
<T4S8| i

<gpp_cntrb_ant >0. 00</ gqpp_cntrb_ant >
<enpe_ei p_ant >0. 00</ enpe_ei p_ant >
<rpp_cntrb_ant >0. 00</rpp_cntrb_ant >
<i tx_ddct _ant >0.00</itx_ddct _ant >
<ei _i nsu_ern_ant >0. 00</ ei _i nsu_ern_ant >
<cpp_qpp_ern_ant >0. 00</ cpp_qgpp_er n_ant >
<unn_dues_ant >0. 00</ unn_dues_ant >
<chrty_dons_ant >0000000, 00</ chrty_dons_ant >
<padj _amnt >0. 00</ padj _ant >

</ T4_AMI>

<QOTH_I NFC>
<hm_ brd_| odg_ant >0. 00</ hm_brd_| odg_ant >
<spcl _wrk_site_ant>0.00</spcl_wk_site_ant>
<prscb_zn_trvl _ant>0.00</prscb_zn_trvl _ant>
<med_trvl _amt >0.00</ med_trvl _ant>
<oc_dy_cnt >365</ oc_dy_cnt >
<oc_i ncant >0. 00</ oc_i ncant >

</ OTH_I NFC>

i p>

p>

<EMPE_NM>
<snnpVos données</snmp
<gvn_nnm>Vos données</ gvn_nmnp
<init>a</init>

</ EMPE_NMW>

<EMPE_ADDR>
<addr | 1_t xt >Vos données</addr |1 txt>
<addr _| 2_t xt >Vos données</ addr _|2_t xt>
<cty_nnpVos données</cty_nmnp
<cntry_cd>aae</cntry_cd>
<prov_cd>on</ prov_cd>
<pstl _cd>Vos données</pstl_cd>

</ EMPE_ADDR>

<empt _prov_cd>ON</ enpt _prov_cd>

<sin>111111111</sin>

<enpe_nbr >Vos données</ enpe_nbr >

<bn>000000000t t 0000</ bn>

<cpp_qpp_xnpt _cd>0</ cpp_qpp_xnpt _cd>

<ei _xnpt _cd>0</ei _xnmpt _cd>

<r pp_dpsp_rgst _nbr>0</rpp_dpsp_rgst_nbr>

<enpt _cd>00</ enpt _cd>

<rpt_tcd>A</rpt_tcd>

<T4_AMI>
<enpt _i ncant >0. 00</ enpt _i ncant >
<cpp_cntrb_ant >0. 00</ cpp_cntrb_ant >
<gpp_cntrb_ant >0. 00</ qpp_cntrb_ant >
<enpe_ei p_ant >0. 00</ enpe_ei p_ant >
<rpp_cntrb_ant >0. 00</rpp_cntrb_ant >
<itx_ddct _ant>0.00</itx_ddct_ant>
<ei _insu_ern_ant>0.00</ei _insu_ern_ant>
<cpp_qgpp_ern_ant >0. 00</ cpp_qgpp_er n_ant >
<unn_dues_ant >0. 00</ unn_dues_ant >
<chrty_dons_ant >0000000, 00</ chrty_dons_ant >
<padj _ant >0. 00</ padj _ant >

</ T4_AMI>

<QOTH_I NFC>
<hm brd_I odg_ant >0. 00</ hm_brd_I odg_ant >



<spcl _wrk_site_ant>0.00</spcl_wk_site_ant>
<prschb_zn_trvl _am >0. 00</prschb_zn_trvl _ant>
<nmed_trvl _ant>0.00</nmed _trvl _ant>
<oc_dy_cnt >365</oc_dy_cnt >
<oc_i ncant >0. 00</ oc_i ncant >
</ OTH_I NFC>
</ T4Slip>
<T4Sunmmar y>
<bn>000000000AA0000</ bn>
<EMPR_NM>
<l 1_nnm»Vos données</11_nm>
<l 2_nnm>Vos données</|2_nm>
<l 3_nnmpVos données</| 3_nnp
</ EMPR_NM>
<EMPR_ADDR>
<addr | 1_t xt >Vos données</addr |1 txt>
<addr _I 2_t xt >Vos données</ addr _| 2_t xt >
<cty_nnpVos données</cty_nm>
<cntry_cd>aaa</cntry_cd>
<prov_cd>ON</ prov_cd>
<pstl _cd>Vos données</pstl_cd>
</ EMPR_ADDR>
<CNTC>
<cnt c_nm>Vos données</cntc_nne
<cntc_area_cd>000</cntc_area_cd>
<cnt c_phn_nbr >000- 0000</ cnt c_phn_nbr >
<cnt c_extn_nbr>0</cntc_extn_nbr>
</ CNTC>
<t x_yr>2000</tx_yr>
<sl p_cnt >0</sl p_cnt >
<PPRTR_SI N>
<pprtr_1 sin>000000000</pprtr_1_sin>
<pprtr_2_si n>000000000</ pprtr_2_sin>
</ PPRTR_SI N>
<fyhp_i nd>0</fyhp_i nd>
<rpt_tcd>A</rpt_tcd>
<T4_TAMI>
<t ot _enpt _i ncant >0. 00</t ot _enpt _i ncant >
<t ot _enpe_cpp_ant >0. 00</t ot _enpe_cpp_ant >
<t ot _enpe_ei p_ant >0. 00</t ot _enpe_ei p_ant >
<tot_rpp_cntrb_ant>0.00</tot_rpp_cntrb_am >
<tot_itx_ddct_ant>0.00</tot_itx_ddct_ant>
<t ot _padj _ant >0. 00</tot _padj _ant >
<tot _enpr_cpp_ant >0. 00</t ot _enpr_cpp_ant >
<tot _enpr_ei p_ant >0. 00</tot _enpr_ei p_ant >
</ T4_TAMI>
</ T4Sunmmar y>
</ T4>
</ Ret ur n>

<Ret ur n>
<T4A>
<T4ASl i p>
<RCPNT_ N>
<snnkVos données</snmne

<gvn_nnkVos données</gvn_nnp
<init>A</init>



</ RCPNT_NW>
<si n>000000000</ si n>
<rcpnt _bn>000000000AA0000</ r cpnt _bn>

<RCPNT

—CORP_NMP>

<l 1_nnm»Vos données</11_nm>
<l 2_nnm>Vos données</|2_nm>

</ RCPNT_CORP_NVb
<RCPNT_ADDR>

<addr | 1_t xt >Vos données</addr |1 txt>
<addr _| 2_t xt >Vos données</addr _|2_txt>
<cty_nnpVos données</cty_nmp
<cntry_cd>AAA</cntry_cd>

<prov_cd>ON</ prov_cd>

<pstl| _cd>Vos données</pstl _cd>

</ RCPNT_ADDR>
<rcpnt _nbr>Vos données</rcpnt _nbr>
<bn>000000000AA0000</ bn>

<FTNT>

<ftnt_cd>00</ftnt_cd>
<ftnt _txt>Vos données</ftnt_txt>

</ FTNT>
<pens_spran_cd>00</ pens_spran_cd>

<l sp_c

d>00</1sp_cd>

<annty_cd>00</annty_cd>
<elg_rtir_cd>00</elg_rtir_cd>

<nel g_
<ot h_i

rtir_cd>00</nelg_rtir_cd>
nc_cd>00</oth_i nc_cd>

<rpp_past _srvc_cd>00</rpp_past _srvc_cd>

<resp_

ai p_cd>00</resp_ai p_cd>

<rpt_tcd>A</rpt_tcd>
<T4A_AMI>

<padj _ant >0. 00</ padj _ant >
<pens_spran_ant >0. 00</ pens_spran_ant >

<nr gst _ppl n_ant >0. 00</ nrgst _ppl n_ant >

<i ndn_xnpt _pens_ant >0. 00</i ndn_xnpt _pens_ant >
<l sp_ant >0. 00</ | sp_ant >

<pr_71 acr_|sp_ant >0.00</pr_71_acr_I|sp_ant>
<i ndn_xnpt _| sp_ant >0. 00</i ndn_xnpt _| sp_ant >
<l sp_rpp_nel g_ant >0. 00</ | sp_r pp_nel g_ant >

<l sp_dpsp_nel g_ant >0. 00</ | sp_dpsp_nel g_ant >
<nr _| sp_trnsf_ant >0.00</nr_I| sp_trnsf_ant>

<l sp_nrgst_pens_ant >0. 00</| sp_nrgst _pens_ant >
<l sp_nel g_trnsf_ant>0.00</|sp_nel g_trnsf_ant >
<sel f _enpl _cnsn_ant >0. 00</ sel f _enpl _cnmsn_ant >
<i tx_ddct _ant >0.00</itx_ddct_ant>
<annty_ant >0. 00</ annty_ant >

<dpsp_i ns_pay_ant >0. 00</ dpsp_i ns_pay_ant >
<inc_avg_annty_ant >0. 00</i nc_avg_annty_ant >
<elg_rtir_am>0.00</elg_rtir_ant>

<indn_elg rtir_am>0.00</indn_elg rtir_amnt>
<nel g_rtir_ant>0.00</nelg_rtir_ant>

<indn_nel g_rtir_ant>0.00</indn_nelg_rtir_ant>
<ot h_i ncam >0. 00</ ot h_i ncant >

<i ndn_ot h_i ncant >0. 00</i ndn_ot h_i ncant >
<ins_rvk_dpsp_ant >0. 00</i ns_rvk_dpsp_ant >
<brd wk _site_amt>0.00</brd wk_site_ant>
<med_trvl _anmt >0. 00</ med_trvl _ant >



<l oan_ben_ant >0. 00</| oan_ben_ant >
<med_prem ben_ant >0. 00</ med_pr em _ben_ant >
<rsch_grnt _ant >0. 00</rsch_grnt _ant >
<brsy_ant >0. 00</ brsy_ant >
<wag_| s_i ncant >0. 00</wag_| s_i ncant >
<dt h_ben_ant >0. 00</ dt h_ben_ant >
<dsbl t _ben_ant >0. 00</ dsbl t _ben_ant >
<grp_trmlife_ant>0.00</grp_trmlife_an>
<ptrng_al oc_ant >0. 00</ ptrng_al oc_ant >
<rpp_past _srvc_ant >0. 00</ r pp_past _srvc_ant >
<pr_90_r pp_ant >0. 00</ pr_90_r pp_ant >
<resp_ai p_ant >0. 00</resp_ai p_ant >
<resp_educt _ast _ant >0. 00</resp_educt _ast_ant >
<chrty_dons_ant >0. 00</ chrty_dons_ant >
</ TAA AMT>
</ T4ASl i p>
<T4AS| i p>
<RCPNT_NMW>
<snnPVos données</snm
<gvn_nnkVos données</gvn_nmnp
<init>A</init>
</ RCPNT_NW>
<si n>000000000</ si n>
<rcpnt _bn>000000000AA0000</r cpnt _bn>
<RCPNT_CORP_NM>
<l 1 _nm>Vos données</| 1 nne
<l 2_nm>Vos données</12_nnw
</ RCPNT_CORP_NW>
<RCPNT_ADDR>
<addr _| 1_t xt >Vos données</addr _| 1_t xt>
<addr _| 2_t xt >Vos données</ addr _| 2_t xt >
<cty_nnpVos données</cty_nnp
<cntry_cd>AAA</cntry_cd>
<pr ov_cd>ON</ prov_cd>
<pstl| _cd>Vos données</pstl _cd>
</ RCPNT_ADDR>
<rcpnt _nbr>Vos données</rcpnt _nbr>
<bn>000000000AA0000</ bn>
<FTNT>
<ftnt_cd>00</ftnt_cd>
<ftnt _txt>Vos données</ftnt_txt>
</ FTNT>
<pens_spran_cd>00</ pens_spran_cd>
<l sp_cd>00</|sp_cd>
<annty_cd>00</annty_cd>
<elg_rtir_cd>00</elg_rtir_cd>
<nel g_rtir_cd>00</nelg_rtir_cd>
<ot h_inc_cd>00</oth_inc_cd>
<rpp_past _srvc_cd>00</rpp_past _srvc_cd>
<resp_ai p_cd>00</resp_ai p_cd>
<rpt_tcd>A</rpt_tcd>
<T4A AMT>
<padj _ant >0. 00</ padj _ant >
<pens_spran_ant >0. 00</ pens_spran_ant >
<nr gst _ppl n_ant >0. 00</ nrgst _ppl n_ant >
<i ndn_xnpt _pens_ant >0. 00</i ndn_xnpt _pens_ant >
<l sp_ant >0. 00</ | sp_ant >



<pr_71_acr_|sp_am >0.00</pr_71_acr _| sp_amt >
<i ndn_xnpt _| sp_ant >0. 00</i ndn_xnpt _| sp_ant >
<lI sp_rpp_nel g_amt >0. 00</ | sp_rpp_nel g_ant >
<| sp_dpsp_nel g_ant >0. 00</| sp_dpsp_nel g_ant >
<nr_I sp_trnsf_ant >0. 00</nr _| sp_trnsf_ant >
<l sp_nrgst_pens_amnt >0. 00</| sp_nrgst _pens_ant >
<l sp_nel g_trnsf_ant>0.00</|sp_nel g_trnsf_am >
<sel f _enpl _cnsn_ant >0. 00</ sel f _enpl _cnsn_ant >
<itx_ddct _ant>0.00</itx_ddct_ant>
<annty_ant >0. 00</ annty_ant >
<dpsp_i ns_pay_ant >0. 00</ dpsp_i ns_pay_ant >
<i nc_avg_annty_ant >0. 00</i nc_avg_annty_ant >
<elg_rtir_am>0.00</elg_rtir_ant>
<indn_elg_rtir_ant>0.00</indn_elg_rtir_ant>
<nel g_rtir_ant>0.00</nelg_rtir_ant>
<indn_nel g_rtir_ant>0.00</indn_nelg_rtir_ant>
<ot h_i ncant >0. 00</ ot h_i ncant >
<i ndn_ot h_i ncant >0. 00</i ndn_ot h_i ncant >
<ins_rvk_dpsp_ant >0. 00</ins_rvk_dpsp_ant >
<brd wk site_amt>0.00</brd wk _site_amnt>
<med_trvl _amt >0. 00</ nmed_trvl _ant>
<l oan_ben_ant >0. 00</ | oan_ben_ant >
<med_prem ben_ant >0. 00</ ned_prem ben_ant >
<rsch_grnt_ant >0.00</rsch_grnt _ant >
<brsy_ant >0. 00</ br sy_ant >
<wag_| s_i ncant >0. 00</wag_| s_i ncant >
<dt h_ben_ant >0. 00</ dt h_ben_ant >
<dsbl t _ben_ant >0. 00</ dsbl t _ben_ant >
<grp_trmlife_ant>0.00</grp_trmlife_ant>
<ptrng_al oc_ant >0. 00</ ptrng_al oc_ant >
<rpp_past _srvc_ant >0. 00</ rpp_past _srvc_ant >
<pr_90_r pp_ant >0. 00</ pr_90_r pp_ant >
<resp_ai p_amt >0. 00</resp_ai p_ant >
<resp_educt _ast _ant >0. 00</resp_educt _ast _ant >
<chrty_dons_ant >0. 00</ chrty_dons_ant >

</ T4AA_AMT>

</ TAASl i p>
<T4ASunmmar y>

<bn>000000000AA0000</ bn>

<PAYR_NW>
<I 1_nnm>Vos données</|1_nm>
<l 2_nm>Vos données</|2_nm>
<I 3_nnpVos données</| 3 _nne

</ PAYR_NW>

<PAYR_ADDR>
<addr _| 1_t xt >Vos données</addr _|1_txt>
<addr _| 2_t xt >Vos données</addr _| 2_t xt>
<cty_nnpVos données</cty_nm>
<cntry_cd>AAA</cntry_cd>
<prov_cd>ON</ prov_cd>
<pstl _cd>Vos données</pstl_cd>

</ PAYR_ADDR>

<CNTC>
<cnt c_nmeVos données</cntc_nne
<cntc_area_cd>000</cntc_area_cd>
<cnt c_phn_nbr>000- 0000</ cnt c_phn_nbr >
<cnt c_ext n_nbr >0</ cnt c_ext n_nbr >



</ TAA>
</ Ret ur n>

</ Submi ssi on>

</ CNTC>

<t x_yr>2000</tx_yr>

<sl p_cnt >0</sl p_cnt >

<RPP_NBR>
<rpp_rgst_1_nbr>0</rpp_rgst_1_nbr>
<rpp_rgst_2 nbr>0</rpp_rgst_2_nbr>
<rpp_rgst_3_nbr>0</rpp_rgst_3_nbr>

</ RPP_NBR>

<PPRTR_SI N>
<pprtr_1_si n>000000000</ pprtr_1_sin>
<pprtr_2_si n>000000000</ pprtr_2_sin>

</ PPRTR_SI N>

<rpt_tcd>A</rpt_tcd>

<T4A_TAMI>
<t ot _pens_spran_ant >0. 00</t ot _pens_spran_ant >
<tot_I| sp_ant>0.00</tot_Isp_ant>
<tot_sel f _cmsn_ant >0. 00</tot_sel f _cnsn_ant >
<tot_ptrng_al oc_am >0. 00</tot_ptrng_al oc_amnt >
<t ot _past _srvc_ant >0. 00</t ot _past_srvc_ant >
<tot _annty_i ncamnt >0. 00</tot_annty_i ncant >
<totr_incanmt >0.00</totr_incant>
<tot_elg_ rtir_am>0.00</tot_elg rtir_am>
<tot_nelg_rtir_ant>0.00</tot_nelg_rtir_am>
<tot_itx_dedn_ant >0. 00</tot _itx_dedn_ant >
<t ot _padj _ant >0. 00</t ot _padj _ant >
<tot _resp_ai p_amt >0.00</tot_resp_ai p_ant>
<tot _resp_ant >0.00</tot_resp_ant >

</ TAA_TAMI>

</ TAASunmary>



